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f- is continuous for all X .

B2 .
NOT APPLICABLE

CI
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STAND DEFN : f is increasing on [-3.5

,
I] U [4*25,9]

b/c the slope off is positive on
C-3.5

,
1) v14.25, 9)

CONCEPT DEFN : f- is
increasing

on C-3. 5
,
1) U (4,25

,
9)

b/c the slope off ispositive on this interval .

C2
.

STAND DEFN : f- is decreasing on [-9
,
-3.5]u[ 1, 4.25]

b/c the slope of f- is negative on C- 9, - 3.5) UCI, 4.25)

☐ 1. f has a local max at ✗ = 1 because f- is continuous and
☒

the slope off goes
from positive to negative at 4=1

D2
.

f has a
local min at ✗ = -3.5 and ✗ = 4.25

at these ✗ - values f- is continuous and the

slope of goes
from negative to positive .

☒ Endpoints WERE NOT CONSIDERED HERE BECAUSE THE

QUESTION ELIMINATED THEM WHEN ASKED For

LOCAL EXTREMES on open interval - 9 < ✗ < 9
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E 1 . ESTIMATION : f- is concave up on

C-5
,

-1.5) U ( 3.2,5. > s ) because

the slope of f is
increasing

on this interval
.

EZ .
Estimation : f- is concave down on

C-9
,
- 5) v1-1.5, 3.2) v15.75, 9)

because

the slope of f is decreasing on this interval .
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-5-C-a)
Ave small neigh .

GY
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f-
'

1-3.5) = 0 for nie know this is a vertex and
therefore a slope of zero

GS
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f-
'

(9) • • • since we do not have a point to the

right of 4=9 . . . we will use this

endpoint together with the coordinate
to its left for an estimation

f-
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(9) a f%_÷t) = 7- 5-9-7

= 2-2=1
* endpoints get special considerations !



H .

f- has a horizontal tangent (slope zero) at

✗= -3.5 ,
✗ = 1

,
and ✗ = 4.25

I. NOT APPLICABLE . WE KNOW f- is smooth and
there are not vertical tangents .

J .
M.v.T APPLIES Because f- is continuous on [ 9,9]

and f has a slope everywhere on C- 9, a) ,

Ave rate 0 =④C-9,9]
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V

K
. Y

- Y , = me X- X, ) or y
- f-Co)=f%)(✗ - o )

y
- 2.7=41×-0)



BASIC ESSENTIALS CATEGORY I

1. y = sinx 2
. Y = cos ✗
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4 . Y = Sec ✗
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cos G) = 1
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3. y
= tan ✗
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5. y=e× ooo Domain
6. y=ln✗ {+1×20}
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Left Asymptote
y=o exponential • ÷×
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growth .

vertical
Asymptote
✗=o



BASIC ESSENTIALS : CATEGORY I

1. sin (511/6) = 1-2

2 . Cos (119/6) = II

3. tan (4-43) =
"" [

"%) _¥,÷ = +53
ICE

=

4. Sec (2%3) = c.sc#-yz)-- 1- = -2

- Iz

5. Csc (7%6) = s¥%) = = -2

B. E. CAT HI

1. sin ✗ = § ✗ = 476,5%
a. tana) -- ¥ =z ✗ = "÷ , 5¥

or
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3
.
Sin ✗ + cos ✗ =o

Sin ✗ = - cos ✗ ✗ = 3%
,
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4. COSZX 1- cos✗ = 0

cos✗(cos ✗ +, y =,
]
↳ ✗=° OR cos✗+1=0

cos ✗ = - I
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,
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Sin ✗ -Zcosxsin✗=o

sin ✗ ( ( - zcosx)=o )
s '" ✗ =o or I -26s ✗ =o

Cos✗ = I

✗= 0
,
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,
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,
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B.E. CATI
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removable discontinuity
at ✗ = - I
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